RESOLUTION OF THE TOHONO O'ODHAM LEGISLATIVE COUNCIL (P. L. 100-485, The Family Support Act of 1988)

RES. NO. 367-89

1	WHEREAS,	Public Law 100-485, the Family Support Act of 1988, was
2		enacted into law on October 13, 1988 to revise the AFDC
3		Program to emphasize work, child support, and family
4		benefits, to amend Title IV of the Social Security Act
5		to encourage and assist needy children and parents under
6		the new program to obtain the education, training and
7		employment needed to avoid long term welfare dependence;
8		and
9	WHEREAS,	the Family Support Act of 1988 creates a new AFDC
10		education, training and employment program, known as Job
11		Opportunities and Basic Skills Program (JOBS); and
12	WHEREAS,	included in the Family Support Act is a provision which
13		allows the Tohono O'Odham Nation to request the
14		Department of Health and Human Services (DHHS) for
15		direct funding to conduct a JOBS Program; and
16	WHEREAS,	the Tohono O'Odham Legislative Council did on April 12,
17		1989 approve per Resolution No. 100-89 the submission of
18		the Notice of Intent to apply for JOBS Program funds
19		under the Family Support Act of 1988; and
20	WHEREAS,	supplemental information is being requested by the
21		DHHS/Family Support Administration (FSA) forty-five (45)
22		days prior to the rescheduled implementation date of
23		January 1, 1990; and
24	WHEREAS,	the JTPA Programs personnel has been meeting with the
25		Department of Economic Security to determine the Tohono
26		O'Odham Nation's total adult AFDC population residing on
27		the reservation in relation to the State of Arizona's
28		adult AFDC population and have estimated that count to
29	3 -	be 347 people for FY 1990; and
30	WHEREAS,	the JTPA Programs personnel has been coordinating with
31	± - × - × - × - × - × - × - × - × - × -	the Arizona Department of Economic Security to determine
32		that the Tohono O'Odham Nation's designated service area

RES. NO. <u>367-89</u> (P. L. 100-485, The Family Support Act of 1988) Page Two (2)

for JOBS shall include the boundaries of the Tohono O'Odham Reservation and shall include the near reservation communities as recognized by the Bureau of Indian Affairs: the communities of Tucson, South Tucson, Marana, Red Rock, Eloy, Cortaro, Toltec, Picacho, Buckeye, Arizona City, Stanfield, Rillito, Why, Ajo, Gila Bend, Sasabe, Casa Grande, Sahuarita, Coolidge, and Florence; and

WHEREAS, the JTPA Program has followed the requirements of the DHHS/Family Support Administration and has made available the JOBS Application to Tribal members and the Arizona Department of Economic Security, Family Assistance Administration, for review and comments at least thirty (30) days prior to submittal to the DHHS/FSA; and

WHEREAS, the JTPA Program has submitted for review and final approval of the JOBS Application and Supplemental documentation to apply for funds under the Family Support Act of 1988 in the amount of \$52,028.00 for the period of January 1 - September 30, 1990.

NOW, THEREFORE, BE IT RESOLVED that the Tohono O'Odham

Legislative Council does hereby approve the submission

of the final documentation for JOBS Program Funds under

the Family Support Act of 1988.

BE IT FURTHER RESOLVED by the Tohono O'Odham Legislative Council that it hereby certifies the Tohono O'Odham Nation's estimated adult AFDC count of 347 for FY 1990 with the understanding that the official AFDC recipient count will be updated prior to the beginning of each fiscal year.

BE IT FURTHER RESOLVED by the Tohono O'Odham Legislative Council that it hereby approves the Tohono O'Odham Nation's

RES. NO. <u>367-89</u> (P. L. 100-485, The Family Support Act of 1988) Page Three (3)

ATTEST:

designated service delivery area for JOBS as stated, i.e. the boundaries of the Tohono O'Odham Reservation and shall include the communities near the reservation as recognized by the Bureau of Indian Affairs.

BE IT FURTHER RESOLVED by the Tohono O'odham Legislative Council that the Tohono O'odham Nation's Officials, to wit: the Chairman, Vice Chairman and any designated official are hereby authorized to negotiate and execute the grant, provided, however, that any amendments affecting the funding or funding levels of this grant shall be submitted for further prior approval by this Council.

The foregoing Resolution was passed by the Tohono O'odham Council on the 13th. day of November, 1989 at a meeting at which a quorum was present with a vote of 1,581.5 for; -0- against; 142.5 not voting; and 01 absent, pursuant to the powers vested in the Council by Section 1 (f) of Article VI of the Constitution of the Tohono O'odham Nation, adopted by the Tohono O'odham Nation on January 18, 1986, and approved by the Acting Deputy Assistant Secretary -Indian Affairs (Operations) on March 6, 1986, pursuant to Section 16 of the Act of June 18, 1934 (48 Stat. 984).

TOHONO	O'ODHAM LEGIS	LATIVE COUNC	CIL
91	1 ////	72	()
1/1/1	asen/X/	Man	
Edward	D. Manuel, Le	gislative C	hairman
1,-	M	- //	do
/5 d	ay of Ilm	Cantrel	, 19 2/.

//		m	Choren	anh	
Teresa	M. Choy	guha,	Legisla	tive	Secretary
			mber		19 <u>89</u> .

Said Resolution was submitted for approval to the office of the Chairman of the Tohono O'odham Nation on the day of Nounday, 19 9 , at 6.36 o'clock, 6.M., pursuant to the provisions of Section 5 of Article VII of the Constitution and will become effective upon his approval or upon his failure to either approve or disapprove it within 48 hours of submittal.

RES. NO. <u>367-89</u> (P. L. 100-485, The Family Support Act of 1988) Page Four (4)

1	TOHONO O'ODHAM LEGISLATIVE COUNCIL
2	
3	Ingleist
4	For Edward D. Manuel, Legislative Chairman
5	[X] APPROVED) on the 16 day of Movember 1989,
6	[] DISAPPROVED) at 1:09 o'clock, PM.
7	Angel Harry Is
8	ANGELO J. JOAQUÍN, SR., Chairman TOHONO O'ODHAM NATION
9	
10	Returned to the Legislative Secretary on the day of
11	Movember , 19 89, at 8:45 o'clock, A,M.
12	
13	Jeresa M. Chogguha
14	Teresa M. Choyguha// Legislative Secretary
15	
16	
17	
18	
19	
20	
21	
22	
23	

MOVED:	John Reno	SUBJECT:	P.	L.	100-485,	The	Family	
							-	

SECOND: Virgil Lewis Support Act of 1988

DATE: November 13, 1989

RESOLUTION NO.367-89

DISTRICTS	REPRESENTATIVES	# OF VOTES	FOR	AGAINST	NOT VOTING	ABSENT
CHUKUT KUK	1. Rosita Ruiz	81.5	X			
163.0	(Rosemary Lopez) 2. Kenneth G. Williams (Harriet Toro)	81.5	X			
HICKIWAN 125.0	1. Lloyd Francisco (Billy C. Manuel)	62.5	X			
123.0	2. Henry Ramon ()	62.5	X			
GU VO 114.0	1. Cross Antone (Juan Joe Cipriano)	57.0	X			Х
114.0	(Juan Joe Cipriano) 2. Virgil Lewis (Michael Flores)	57.0	X			
SAN LUCY 106.0	1. John Reno	53.0	X			
106.0	2. Albert Manuel, Jr. (Max P. Jose)	53.0	X			
PISINEMO	1. Edward Manuel (Alex Antone) 2. Johnson Jose ()	59.5	X			
119.0		59.5			X	
GU ACHI	1. Alex J. Ramon (Fernando Joaquin) 2. Percy Lopez ()	83.0			X	
166.0		83.0	X			
BABOQUIVARI 229.0	 Joann Garcia (Frances Miguel) Earl A. Francisco (Kenneth Chico, Sr.) 	114.5	X			
229.0		114.5	X			
SAN XAVIER 127.0	1. Joanne C. Preston (Carmelita Mattias)	63.5	X			
127.0	2. Eugene Enis, Sr. (Michael Rios)	63.5	X			
SCHUK TOAK 107.0	1. Joseph Juan (Frances Francisco)	53.5	X			
107.0	2. JoAnn Francisco (David Valenzuela Sr.)	53.5	Х			
SELLS	1. Joseph T. Joaquin (Larry Garcia)	155.0	Х			
310.0	2. Andrew Patricio (Daniel Lopez)	155.0	Х			
SIF OIDAK 158.0	1. Willard Juan, Sr. (Melissa Gregorio)	79.0	X			
130.0	2. Mary Ann Antone (Nina Jose)	79.0	X			
	TOTAL	1,724.0	1,581.5	-0-	142.5	01